.model SW SW(Ron=0.1 Roff=10Meg Vt=1.1 Vh=0.1)

SW

N

C5

V1
PULSE(0 150 1n 1n 2.5u 10u) S1
L1
. SR
.OPTIONS numdgt=7 10p
.OPTIONS plotwinsize=0 K1L1L21
.OPTIONS noopiter SwW
V2 E
PULSE(0 15 5.002u 1n 1n 2.5u 10u) S2
SwW SwW
V6 b (\ V9
PULSE(0 15 0 1n 1n 2.5u 10u) s3 s7 ULS
L3
.OPTIONS numdgt=7 1op
.OPTIONS plotwinsize=0 K2L3L51
.OPTIONS noopiter SwW SW
V7 b (\ V8
S4 S8

PULSE(0 15 5.002u 1n 1n 2.5u 10u)

PULSE(0 150 1n 1n 2.5u 10u)

10

015 5.002u 1n 1n 2.5u 10u)

E(0 15 5.002u 1n 1n 2.5u 10u)

o

L2
200p

L5
200y

--- C:\Users\savus\Documents\LTspiceXVII\Projects\Draft1.asc ---

uPsee0o] upsceoo | | U]
s UPSC600
D3 p
L INT NI
L L]
UPSC600 UPSC600 .
.tran 5m uic
dib tubes_koren.lib
dib supertex.lib
lib koren-6¢33c.mod
upsSceoo] uPsCeoo| | U2
. UPSC600
D7 1

L NI NT
P4 2
UPSC600 UPSC600

6C33C_Excem

SINE(0 60 1khz)

6C33C_Excem

E(0 60 1khz 0 0 180)



